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1 2n
(a) lim = (In(n+k) —Inn)
[
(b) lim ze™® /x e’ dt
T—+00 1
[°]
(c) Find the derivative of the function f(z) = e 5 Whenever it exists. ([z%] stands

for the greatest integer less than or equal to x?)

Y
(d) /1 T

(e) /—Z (cosz) e~/ dx
(0 i n{n —1)

7
n=2 o

/ /R elv=2)/(y+a) dzdy, where R is the region in the xy-plane bounded by trapezoid
with vertices (0,1),(0,2),(2,0), and (1,0).

2 /8 )
/ / y2e” dx dy
0 Jy3

—. The demand function for a certain make of ink-jet cartridge is p = —0.01z° — 0.1z +
6, where p is the unit price in dollars and z is the quantity demanded each week,
measured in units of a thousand. Compute the elasticity of demand and determine

whether the demand is inelastic, unitary, or elastic when z = 10. (12 %)

=. Suppose an investment is expected to generate income at the rate of f(t) = 30000 + 800t dol-
lars/year for the next 5 years. Find the present value of this investment if the prevailing

interest rate is 5%/year compounded continuously. (12 %)

1 1 A
M. (a) Find the Maclaurin series for e 1%, (b) Approximate / e %% dx to four
Jo
decimal places. (12 %)
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